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QUESTION 1

The process is responsible for Management High Availability synchronization.
A. CPLMD

B. FWM

C. Fwsync

D. CPD

Correct Answer: B

QUESTION 2

Your organization maintains several IKE VPN\\'s. Executives in your organization want to know which mechanism
Security Gateway R77 uses to guarantee the authenticity and integrity of messages. Which technology should you
explain to the executives?

A. Certificate Revocation Lists

B. Application Intelligence

C. Key-exchange protocols

D. Digital signatures

Correct Answer: D

QUESTION 3

Which command will only show the number of entries in the connection table?
A. fw tab -t connections -s

B. fw tab -t connections -u

C. fw tab -t connections

D. fw tab

Correct Answer: A

QUESTION 4

In the Rule Base displayed, user authentication in Rule 4 is configured as fully automatic. Eric is a member of the LDAP
group, MSD_Group.
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What happens when Eric tries to connect to a server on the Internet?
A. None of these things will happen.

B. Eric will be authenticated and get access to the requested server.
C. Eric will be blocked because LDAP is not allowed in the Rule Base.
D. Eric will be dropped by the Stealth Rule.

Correct Answer: D

QUESTION 5

Which Check Point address translation method allows an administrator to use fewer ISP- assigned IP addresses than
the number of internal hosts requiring Internet connectivity?

A. Hide

B. Static Destination

C. Static Source

D. Dynamic Destination

Correct Answer: A
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